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Questions 1 to 10 carry 1 mark each.  Questions 11 to 15 carry 2 marks each.,
For each question, four.pptions are given. One of them is the correct answer.
Make your cholce (1, 2, 3 or 4) and shade your answer on the Optical. Answer
Sheet. ) : (20 marks)

14
1 The number .of cars is 22 of the number of motorcycles in a carpark.

What Is the ratlo of the number of motorcycles to the number of cars in
the carpark? Give your answer in the simplest form.

(1) 7:12
2 12:7
(3) 14:24
@) 24:14

2 What is the value of 29 400 + 7007

(1) 32
2) 42
(3) 320

“4) 420



. it 3
What is the value of — + y —_

N
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In the numberline below, what is the mixed number represented by B?
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12
What is the value of —:{- X ) ?

m 3
@ 2
® =
@ =

6
7 of a cake is cut equally into 12 slices, What fraction of the whole

cake is each slice?

1 -

14
@ =
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w 2



Which of the following is the same as 10007 g 7

(1)
@
(3)
(4)

' 1.07kg

10.07 kg
10.007 kg

100.07 kg

What is the value of 2.5 + 5007

(1)
(2)
{3
(4)

There are 200 children in a camp.

0.5
0.05

0.005

percentage of the children are boys?

(1)
(2)
(3)
(4)

30%
35%
65%

70%

130 of them are giris.

What



10 Which of the following is likely o be the mass of a Nanyang Primary
School student handbook?

(1) 20kg
@ 29

(3) 20009
4) 200g

Tt The ratlio of the number of red pins to the number of yellow pins fo the
number of green pins is 4 : 5: 3.  The total number of yellow pins and
green pinsis 120. How many red pins are there?

(1) 30
@) 60
@) 96
4 160



42 The'solid below is built using 1-cm cubes. Find the volume of the solid.

20
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(1) 28cm?
2) 26cm?
(3) 20cm®
{4) 18cm?



13  Thetable below shows the modes of transport used by students in Class

6E to go o school.
Mode of R .
T " Bicycle Bus Car Motorcycle {  Train
Number
of 5 10 15 3 8
students
Which of the following bar graphs represents the information shown in
the table above?
(1)
Number )
of
students [ . l
Bicycle Motorcycle  Train
(2)
Number
of
students
Bicyde  Bus Car  Motorcycle  Traln
{3)
Number
of :
students .
Bicyde  Bus Car  Motoroydle  Train
4)
Number
of
students l:
.

Bicydle Bus Car  Motorsyde  Train



1
14 Mdm Nor used 3 of her money to buy 4 oranges and 8 apples. The

cost of 2 oranges was the same as that of 3 apples. What was the
greatest number of apples that Mdm Nor could buy with haif of the

money she had at first?
(1} 9

2 14

(3) 21

4) 42

15 A table with 4 columns is filled with humbers in a certain pattern.
The first 6 rows of the table are shown below.

Column A Column B Column C Column D

Row 1 6 5 4 3

Row 2 7 8 9 10
Row 3 14 13 12 11
Row 4 15 16 17 18
Row 5 22 24 20 19
Row 6 23 24 25 26

In which column will the number 343 appear?

{1) Column A
(2) ColumnB
(3) ColumnC

(4) ColumnD
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Questions 16 to 20 cany 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers In the units
stated. _ (5 marks)

16 Findthevalue of 100+ (25 —~ 15} +8x% 7.

3
17  Find the value of 10 + e Give your answer as a mixed number in the

simplest form.

Ang:

18 Jennie used 350 g of flour to bake 7 buns. How many such buns could
she bake with 250 g of flour?

Ans:




19 Jonas has $10. He spends 95¢ on a sandwich and 80¢ on a drink,
How much money does Jonas have left?

Ans: 3

20  Alice and Betly donated a sum of money to charity. 40% of the sum of
money was donated by Alice. Belly donated $480. Find the fotal sum
of money donated by Alice and Betty.

Ans: §




Questions 21 to 30 canry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (20 marks)

21  Mrs Ong had some potted plants at first.  After she sold 240 potied
plants, she was left with 20% of the potted plants she had at first. How
many potted plants did she have at first?

5
22  MrMenon had P kg of sugar. He packed all the sugar into packets of

5 _
T8 kg each. How many such packets of sugar did he pack?

Ans:

2
23  Ismail has 350 buttons. 5 of the buttons are red and the rest are blue.

How many biue buttons does he have?

Ans:




2
Four times of Ali's mass is equalto = of Bala’s mass. What is the ratio

24 3
of Ali’'s mass fo their total mass?

Ans:

25  Chang had 90 stickers. The ratio of the number of stickers Chang had
to the number of stickers Dali-had was 9 : 5.  How many stickers must
Chang give to Dali so that both of them would have the same number of
stickers?

Ans:
26  The ratio of the number of apples to the number of oranges Jisoo had

was 7 : 3 atfirst. After she bought 33 apples and 33 oranges, the ratio
of the number of apples to the number of oranges became 5 : 3. Find
the total number of apples and oranges she had at first.




27 Rosnie had $16 atfirst.  After John gave $8 to Rosnie, he had thrice as
much money as Rosnie. How much money-did John have in the end?

Ans: $ : N

28  How many 4-digit numbers are there such that each number gives 3000 '
when rounded fo the nearest thousand? The digits 2, 3, 5 and 0 appear
once in each number.

(2] (s} (o]

Ans:

20  Lisa paid $40.50 for a chocolate cake and 6 fruit tarts. Samuet paid
$25.50 for one such chocolate cake and 2 such fruit tarts. How much
did one such chocolate ¢ake cosi?

Ans: §




30

Shop A and Shop B sell pens of four colours.  The table below shows
the number of pens sold by each shop in January. The number of biue

pens sold by Shop A is not shown.

Number of Number of
Colour pens soki by Shop A pens sold by Shop B
Red 140 120
Blue- ? 335
Black 210 245
Purple 80 100

In January, 50% of the pens sold by Shop A were blue pens.

Each of the statements is either true, false or not possibie to tell from the
information given. For each statement, put a tick { v ) to indicate your

answer.
Not
Statement True False | possible
to tell
Shop A sold more blue pens than

Shop B in January.

The number of black pens sold by

| Shop B in January was wwice the
number of black pens sold by Shop
B in February.

in January, 15% of the pens sold by
Shop B were red pens.

End of Paper
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12 Jonas hss $30. He spands 95¢ on 2 sanduich 2nd B0C on 3 drinte,
Hovs mmueh mangy does Jonns have lelt7

g0 - 095 - o

B2y ¢ éns)

finaz §, 8":"—; —_

20 Ao and Getly donotod a =um of monsy to charity. 405 of tha sum ¢!
money wasdenated by Alice.  Belty danaled $480,  Find tha total sum
of money danated by Alfoe and Belty.

7N
4o%, 1057 40k

Aiee = hol, ety ($4%)
b ol. —> Lepo
107 — Lot
2 g
{00Y. — $oxio
= g'oo C““’),
Ans: § 9’09

Questons 16 do 20 camy 1 mark each, Wiilo YOiT answers 1 fha spaces
provided. For quasiions witch raquire units, give your answors I s w 2.
stoted, {5 maks)

16 Find the volue of 106+ (25 = 15) + 8~ 7
160 2 (2515 s 2xT
—
= 100x10+ 8%
S |

= (o réwT] . 6(7
> 10+5h = pb ()

3 .
17 Fndtevahrpof 10+ § - Cleyowranseerasa mixed numbariat »
stmplest fomt, ~

18 Jonnie uted 350 g of flour fo bake 7 buns,  How many such buns could
shs bake vih 250 g of fow?

36037250 (1)

ZS’” ".’SDJ 51}@.\5
- (),

Ats:

Questions 24 10 3¢ cany 2 nudks cach. . Shony [ousrwerdng clonry ond wita
yeuranswers inthe spacos provided.  For guasiions whish roqula unis, Ggive
rour Answars in 1ho units slaled, {20 marka}

2l ¥ Ong bad seas polied piania at fost.  After alie sold 240 potied
plants, sha was lofl with 20% of G policd plonta sho hod ot firsk  Mow
meny poticd plants ofd sha have nl first?

7 ot —> bt 207 F.i{-:J plecd ot 185
Ny reans Q0% sp poted plosds -
£y S T
10 = 21032 - 30

IOO’{- - 202102200 (M'L) Ang 300

5
22 Mrhtenon hzd 3 kycleugar. He packed alf the sugar info pocketa n!

-1% kg each,  How many such packeds of sugardid no pack?
5.5 5l n‘f;(‘gf-'c)

b el ¥ A
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23 jsmal has 350 butons. % of the bultons are red md the rest ore blua.
Hovz many biue buttons dos he hava?

R

Jo
| Fr 5 210 6]

A10

Ans:




24 Eom&msnrﬁ.u'amnbnqwlo'g of Bsla's mans, Whatisths ajo
of AfT's mass to hair folal mass?
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25 Chang bad B0 sfickers.  The ratfo of the number of stickers Chang had
to the number of stickers Dol hadwas S5, How many stickers must
Cfmngmmna!somtmmoﬂhnmmcﬁhanmemmcf
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28  The ratio of the number of apples to the nembar of oranges Jisco had
wana T35 fel, Aftersha hooght 3 apples and 33 ormngas, fe miia
of the numbor of spptes to (o numbor of orangos becamo 5:3. Find
the lotal number of apples and orenges she had al first,
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3¢ Shop Aand Shop B s2il pens of four ¢ojours.  Tha lable belovs shovs
the numboer of pens sold by aach shop in Jaruary,  The number of blue
pensa sold by Shop A ba not shovm,

Numzer o3 Nurber of
Colowr | penasokdbyShoph pens sokd by Shep B
Raed L —— 120
Bluo ey 2 lsﬂ, Yi 335
Black N Fil (245)
Purpls N 80 108

in Januvary, 50%% of tha poens soid by Shop A werd bive pens.

Each of the stelemants I eitlier brup, falss o7 ol possble to lel from the
Information given, Foreach statemant, puta tick { v o Indicats your
nnbuﬂr.

Not
Statement True Faise | possible
o el

430} .~
Shop A 2okl mof biue peas fhan v

Shap 8 In January,”
{335}

K TR 28C

B T}'pnumbnrn s xokf by
Shop Bin M@n v
number of black pens

1.8 i February, sbrn’-ﬂ e

| In Joeaary, 15% of the pena sold by \/
7

g . -

120 XIGDA; 5% C:;n«t)_

120t CH2SHEO

_End of Paper
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2 anhadeBalﬁrst. Afer John gave S8 Jo Rosnls, he had thrice ay
mruch poney 33 Rosnfa.  How much money did Jobin hava in the end?
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28 Howmany 4-digit rumbers sre n;mw&xmaleumnuﬁber ives
wlmrmmedmmomaf&lfmssnd? Thedigits 2, 3, 5.and Doppear
once In each number.

HE6E
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@ 3 pa5 | K300
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21 Usa pakd $40.50 for 5 chomolate cake snd 6 Tl t2ans.  Samuesl pakd

825.50!ormwd1chomlaiemknaﬁd25mhmmm. Howr mueh
<id ono such chocolata cake cost?
_ g 1C+6T =40 X
1C+2T = 25°8

4T = 4a.5- 255 °
> [-5-
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